Inverse Relationships (A)

5x7=35
7x =35
35+ =5
35+5=

11x12=132
 x11=132

s 12=11
132+ =12

9x8=72

72+8=__
72+9=

11x11=121
11x =121
21+11=_
21+ =11

Fill in the blanks
12 x9 =108 5x6=30
9x =108 6x =30
_ +9=12 30-6=__
108+~ =9 30+-5=__
5x10=150 12 x8=96
10x5=_ 8x12=_
50-10=__ 9% +~8=_
__ =5=10 9+~ 12=__
12x8=96 8 x 6=48
. x12=96 6x8=_
9% +8=_ 48+6=_
_ +12=8 48 +8=_
12x5=60 7x12=284
5x =60 12x =84
= 5=12 84+ =
60+12=__ 84+7=__
5x5=25 6x7=42
_ x5=25 _ x6=42
__+5=5 42+ =6
25+ =5 = 6=T7

8 x 11 =88
11x8=_

88+ 11=_
+8=11

6x11=66
_ x6=66

 +11=6
66+6=_

12 x 12 =144
12x =144
+12=12

+=12=12

7% 10=70
 x7=70
70+10=_
70+ 7 =

11 x10=110
10x11=__
+10=11

__=11=10
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Inverse Relationships (A) Answers

5x7=35
7x 5 =35
35+ 7 =5
35+5=_7
11x12=132
12 x11=132
132 +12=11
132+ 11 =12
9x8="72
8x9= 72
72+8= 9
72+9= 8
11x11=121
11x 11 =121
121+11=_11_
121+ 11 =11
11 x 8 =88
8x11= 88
88+ 8 =11
88+ 11= 8

Fill in the blanks

12 x9 =108 5x6=30

9x 12 =108 6x 5 =30
108 +9=12 30-6=_5_
108+ 12 =9 30+-5=_6_
5x10=150 12 x8=96

10x5= 50 8x12= 96
50-10=_5_ 96 +8= 12
50 =5=10 96 +12= 8
12x8=96 8 x 6=48

8 x12=96 6x8= 48
96 +8= 12 48+6= 8
96 +12=8 48+8= 6_
12 x5=60 7x12=284

5x 12 =60 12x 7 =84
60 +5=12 84+ 12 =7
60+12= 5 84+7= 12
5x5=25 6x7=42

5 x5=25 7 x6=42
25 =5=5 42+ 7 =6
25+ 5 =5 42 +6=17

8 x 11 =288
11x8= 88
88+ 11= 8
88 +8=11
6% 11 =66
11 x6=66
66 ~11=6
66+6= 11
12 x 12 = 144
12x 12 =144
144 +12=12
144 +12=12
7 %10 =70
10 x7=170
70+10= 7
70+7=_10_
11x10=110
10x11=_110_
110+ 10=11
110 +11=10
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Inverse Relationships (B)

7x12=84
12x7=
84 +

6 x11=0606

11x =66

 +11=6
66+6=_

11x9=99
Ox11=_
. +9=11
99+ =9

7% 5=35
5x =35
= 5=7
35+ 7=

6x9 =54
Ox 6=

54+9=_
_+6=9

Fill in the blanks
9x8=72 10 x 8 =80
. x9=72 8x10=_
72 = __ +=8=10
72+9=__ 80+~ =8
8 x7=56 7 x5=35
7x =56 X T7=35
= 7=8 35+-5=__
56+~ =7 = T7=5
6 x10=60 8x9=172
_ x6=60 Ox8=_
60+~ =6 72+9=__
__ +6=10 ~_ =8=9
12x11=132 5x9=45
11x =132 O9x =45
=+ 11=12 _+9=5
132+ =11 45+ =9
7x11=77 6 x5=30
11x =77 Sx6=_
77+~ =17 __+5=6
= T7=11 30-6=__

6% 6=36
6x =36
_ +6=6
36+6=_
8 x 5 =40
_ x8=40
40+ =8
40+ =
8 x 9 =72
9x =72
72+9=_
_ +8=9
7x6=42
 x7=42
 +6=7
2+7=_
10 x 6 = 60
6x =60
60+-6=_
60+10=_
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Inverse Relationships (B) Answers

7x12=84
12x7= 84
84+ 12 =7
84+7= 12
6% 11 =66

11x 6 =66
66 ~11=6
66+6= 11
11x9=99

9x11= 99
99 +9=1]
99+ 11 =9
7x5=35

5x 7 =35
35 +5=7
35+7=5_
6 x9=>54

9x6= 54
54+9= 6
54 +6=9

Fill in the blanks
9x8=72 10 x 8 =80
8 x9=72 8x10=_80
72+ 8 =9 80 +=8=10
72+9= 8 80+ 10 =8
8 x7=56 7 x5=35
7x 8 =56 5 xT7=35
56 +7=8 35+-5=T7_
56+ 8 =7 35 =7=5
6 x10=60 8x9=172
10 x6=60 Ox8= 72
60+ 10 =6 72+9= 8
60 ~6=10 72 +8=9
12x11=132 5x9=45
11x 12 =132 9x 5 =45
132 +11=12 45 +9=5
132+ 12 =11 45+ 5 =9
7x11=77 6 x5=30
11x 7 =77 S5x6=_30_
77+ 11 =7 30 =5=6
77 =7=11 30-6=_5_

6% 6=36
6% 6 =36
36 +6=6
36+6= 6
8 x 5 =40

5 x8=40
40+ 5 =8
40+ 8 =5
8 x 9 =72

9x 8 =72
72+9= 8§
72 +8=9
7x6=42

6 xT=42
42 +6=7
2+7= 6
10 x 6 = 60

6% 10 =60
60~ 6=_10_
60+10= 6
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Inverse Relationships (C)

12 x7 =284
7Tx12=

Fill in the blanks
7%x9=063 10x12=120
O9x =63 __ x10=120
63+ = 120 =10
63+ = 120 =12
9x9=81 12x5=60
_ x9=48I1 5x12=_
81+9=_ _ +5=12
81 + = 60+12=__
7xX6=42 6x11=66
_ xT=42 X 6=066
42+6=__ =+ 11=6
42+ = 66+6=_
5x7=35 7x12=284
_ x5=35 _ xT7=84
35+ = 84+ =
35-5=__ = T7=12
12x6="72 6x12="72
_ x12=72 12x6=__
72+ =12 _ +12=6
_+12=6 72+-6=__

6x9=>54

6 x7=42
x6=42

02+ =6

42+ 6=

11x10=110
10x11=__

110+ =11
110+ 11=

8 x 10 =80
10x =80
_ +10=38

+8=10

6 x 10 = 60

x 6 =60
_ +10=6
60+~ =10
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Inverse Relationships (C) Answers

12 x7=84
Tx12= 84
84+ 7 =12
84+ 12 =7
12%x6=72

6% 12 =72
72+ 6 =12
72+ 12 =6
7%5=35

5x7= 35
35+5= 17
35+7= 5
10 x 9 =90

9% 10=_90_
90 +9=10
90+ 10= 9
5x11=55

11x 5 =55
55 +11=5
55+ 5 =11

Fill in the blanks
7%x9=063 10x12=120
9x 7 =63 12 x10=120
63+ 9 =7 120+ 12 =10
63+ 7 =9 120+ 10 =12
9x9=81 12x5=60
9 x9=48I1 5x12= 60
81+9= 9 60 =5=12
81~ 9 =9 60+12= 5
7xX6=42 6x11=66
6 xT=42 11 _x6=606
42+6=_T7_ 66 ~11=6
42+ 7 =6 66+-6=_11_
5x7=35 7x12=284
7 x5=35 12 xT7=84
35+ 7 =5 84+ 12 =7
35+-5=_17_ 84 +=7=12
12x6="72 6x12="72
6 x12=72 12x6=_72_
72+ 6 =12 72 +12=6
72 +12=6 72+6= 12

6x9=>54
9x6= 54
54 =9=6
54 +6=9
6x7=42

7 x6=42
2+ 7 =6
2+6= 7
11x10=110
10x11=_110_
110+ 10 =11
110+ 11=_10_
8 x 10 =80

10 x 8 =80
80 +10=8
80 +8=10
6 x 10 = 60
10 x6=160
60 ~10=6
60+~ 6 =10
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Inverse Relationships (D)

6% 6=36
_ x6=36
36+ =6
36+6=_
10 x 8 = 80
% 10=280
80+8=
_ +10=8
10x 11=110
11x10=_
110+ =10
_ +10=11
8 x 7=56
Tx8=
56+ =8
6x12=72
12x6=_
72+-12=_
2+6=_

Fill in the blanks
6x7=42 11 x12=132
Tx6=__ 12x11=__

+~7=6 132+12=__

~6=17 = 11=12
7x10=170 10x7=170
10x =70 ~ x10=170
70+ =T 70+7=__
70+~ =10 70+ =
7x10="170 10 x 10=100
10x =70 10x10=__
_ =10=7 ~__+10=10
70+~ =10 100+-10=__
7 x8=56 10x12=120
8 x =56 12x =120
56+8=_ 120+-12=__
56+ = _ +10=12
5x5=25 6 x10=60
_ x5=25 10x6=_
25+5=__ ~_+10=6
25 = = __ +6=10

11x7=77

7x =77
77+ =11
77+11=

5x%11=55
11x5=
= 11=5
55+ =11

6 x 10 = 60
_ x6=60
60~ =6
60+~ =10

8 x 6 =48
6x =48
_ +6=8
48+ =6

10 x 12 =120
% 10=120
= 12=10
120+ =12
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Inverse Relationships (D) Answers

6% 6=36
6 x6=36
36+ 6 =6
36+6= 6

10 x 8 = 80
8 x10=280
80+8= 10
80 ~10=8
10x 11=110
11x10=_110_
110+ 11_=10
110+ 10=11
8 x 7=56
7x8= 56
56+ 7 =8
56 +8=7
6x12=72
12x6=_72_
72+12= 6
72+6= 12

Fill in the blanks
6x7=42 11 x12=132
Tx6= 42 12x11=_132_
42 +=7=6 132+12=_11_
42 +6=7 132 +11=12
7x10=170 10x7=170
10x 7 =70 7 x10=170
70+ 10 =7 70+7=_10_
70+ 7 =10 70+ 10 =7
7x10="170 10 x 10=100
10x 7 =70 10x10=_100_
70 =10=7 100 +10=10
70+ 7 =10 100 +10=_10_
7 x8=56 10x12=120
&8x T =56 12x 10 =120
56+8= T 120+12= 10
56+ 7 =8 120 +10=12
5x5=25 6 x10=60
5 x5=25 10x6=_60_
25+5=5_ 60 =10=6
25+ 5 =5 60 +6=10

11x7=77

7x 11 =77
77+ 7 =11
77+11= 7.
5x11=55
11x5= 55
55 +11=5
55+ 5 =11
6 x 10 = 60
10 x6=60
60+~ 10 =6
60+~ 6 =10
8 x 6 =48
6x 8 =48
48 +6=8
48+ 8 =6
10 x 12 =120
12 x10=120
120 +12=10
120+ 10 =12
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Inverse Relationships (E)

6x 8 =48
_ x6=48
48+ 8=
48+ 6=
7%9=63
9x =63
63+9=_
 +7=9
12x6=72
6x12=_
s 6=12
72+12=_
7x7=49
Tx7=__
s 7=7
49+7=_
5x7=35
7x =35
35+ =5
_ +5=7

Fill in the blanks

11 x9=99 10x7="170
Ox11=__ _ x10=170
_ +9=11 70+T7=__
9+11=__ 70+ =
6 X 8 =48 10x7=170
_ x6=48 7x10=__
48 +8=_ __ =7=10

+~6=28 _ +10=7
12x6="72 7 x7=49
. x12=172 TxT=_
72+-6=__ 49+7=_
72+12=__ 49+ =
6 x6=36 11 x7=77
6x =36 T7x =TT
T 6=6 T77+=T7=__
36~ =6 77+11=__
12x6="72 5x8=40
_ x12=72 _ x5=40
_ +6=12 40+ =5
72+12=__ 40 5=

6% 5=30

5x =30
30+5=_
_ +6=5
12x11=132
. x12=132
132+ =12
132+12=_
11 x5=55
5x =55
_ +5=11
55+ =5
5 x 6 =230

_ x5=30
30+ =
30+5=_
5x9=45
9x =45
_ +9=5
45+ =9
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Inverse Relationships (E) Answers

6x 8 =48
8 x6=48
48 +8= 6
48+ 6= 8
7%9=63

9x 7 =63
63+9= 7
63 +7=9
12x6=72

6x12= 72
72 +6=12
72+12= 6
7x7=49

Tx7= 49
49 +7=7
49+7= 7
5x7=35

7x 5 =35
35+ 7 =5
35 +5=7

Fill in the blanks

11 x9=99 10x7="170

O9x11= 99 7 x10=170
99 +=9=11 70+7=_10_
9+11= 9 70+ 10 =7
6 X 8 =48 10x7=170

8 x6=48 7x10=_70_
48 +8= 6 70 =7=10
48 +6=38 70 =10=7
12x6="72 7 x7=49

6 x12=72 TxT= 49
72+-6=_12_ 49+7= 17
72+12= 6 49+ 7 =17
6 x6=36 11 x7=77

6x 6 =36 7x 11 =177
36 ~6=6 77+T7= _11_
36+ 6 =6 77+11=_17_
12x6="72 5x8=40

6 x12=72 8 x5=40
72 +6=12 40+ 8 =5
72+12= 6 40+5= 8

6% 5=30
5% 6 =30
30-5= 6
30 +6=5
12 x11=132
11 x12=132
132+ 11 =12
132+12= 11
11 x5=55

5x 11 =55
55 +5=11
55+ 11 =5
5 x 6 =230

6 x5=30
30+ 6 =5
30-5= 6
5x9=45
9x 5 =45
45 +9=5
45+ 5 =9
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Inverse Relationships (F)

11 x12=132
12x =132
132+12=__
132+ =1
12 x 12 =144
12x12=__
144+ =12
144+ =12
5x12=60
12x5=_
= 12=5
60+~ =12
8§ x9="72
O9x8=_
72+ =8
72+8=_
11 x6=066
__x11=66
= 6=11
66+ =6

Fill in the blanks
5x6=30 8x11=288
6x5=_ 11x8=_
__+6=5 8+ =
30-5=__ 88 +8=_
10 x9=90 10 x5=50
~ x10=90 ~ x10=50
90+9=__ __ +=5=10
90+10=__ __+10=5
9x10=90 5x6=30
10x =90 6x5=_
90+10=__ __+6=5
_ +9=10 30 =6
9x8="72 7 x 7 =49
§x9=_ _ xT7=49
72 =9 = T7=17
72+ =8 49+ =7
5x12=60 11 x8=88
12x5=_ 8x11=_
60+12=__ _ +=8=11

~5=12 = 11=8

7x11=77
11x7=_
77+ =
77+7=__
8 x 12 =196
12x =96
96+ =8
+8=12
7% 8=56
§x =56
56+8=
_ +7=38
11 % 9=99
9x =99
99+9=_
 +11=9
7% 6=42
6x7=_
 +6=7
2+ =6
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Inverse Relationships (F) Answers

11x12=132
12x 11 =132
132+12=_11_
132+ 11 _=12
12 x 12 = 144
12x12= 144
144+ 12 =12
144+ 12 =12
5x12=60
12x5= 60
60 +12=5
60+ 5 =12

8 x 9 =72
9x8= 72
72+ 9 =8
72+8= 9
11 % 6=66

6 x11=66
66 +6=11
66+ 11 =6

Fill in the blanks
5x6=30 8x11=288
6x5= 30 11 x8= 88
30 =6=5 88+ 11 =8
30-5=_6_ 88+8=_11_
10 x9=90 10 x5=50
9 x10=90 5 x10=50
90+9= _10_ 50 =5=10
90+10=_9 50 =10=5
9x10=90 5x6=30
10x 9 =90 6x5= 30
90+10=_9 30 =6=5
90 =9=10 30 5 =6
9x8="72 7 x 7 =49
8x9= 72 7 x7=49
72+ 8 =9 49 +7=17
72+ 9 =8 49+ 7 =17
5x12=60 11 x8=88
12x5=_60_ 8x11= 88
60+12= 5 88 +8=11
60 +5=12 88 +11=28

7x11=77
11x7= 77
77+ 11 =7
77+7=_11_
8 x 12 =96

12x 8 =96
96+ 12 =8
96 +8=12
7% 8=56

8 x 7 =56
56+8= 7
56 +7=8
11x9=99

9x 11 =99
99+9= 11
99 +11=9
7% 6=42

6x7= 42
42 < 6=7
2+ 7 =6
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Inverse Relationships (G)

12 x12=144

x 12 =144

+12=12

+=12=12

11 x12=132

12x =132

~12=11

=11=12

Fill in the blanks

8 x 6 =48 7xX6=42

_ x8=48 6x =42
48 -6 = = 6=17
__+8=6 42+7=__
7x11=77 8x11 =288
11x7=_ 11x8=_
77+ =T 88 +11=__
= T7=11 _ =8=11
5x9=45 11 x11=121
9 x =45 _ x11=121
45+9=_ = 11=11
__+5=9 = 11=11
10x7="170 9x8="72

~ x10=170 . x9=T72
__ =7=10 __ +8=9
_ +10=7 72+9=__
12 x12=144 9x11=99
12x12=__ 11x =99
= 12=12 = 11=9
144 + =12 99 - =11

6 x 10 = 60
_ x6=60
60+ =
60+6=_
12 x 8 =96
§x12=_
96 +8=
96+ =
7x7=49
_ x7=49
49+7=
49~ =
11x7=77
 x11=77
s 7=11
77+11=_
7% 9=63
9x =63
63+9=_
+7=9
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Inverse Relationships (G) Answers

12 x 12 =144
12 x12=144
144 +12=12
144 +12=12

5% 11=55

11x5= 55
55 +11=5
55+ 5 =11

9x11=99
11x 9 =99
99 +11=9
99+ 9 =11

6% 6=236
6 x6=36
36+ 6 =6
36+ 6 =6

11x12=132
12x 11 =132
132 +12=11
132 +11=12

Fill in the blanks

8 x 6 =48 7x6=42

6 x8=48 6x 7 =42
48+6= 8 42 ~6=17
48 +8=6 42+T7= _6_
7x11=77 8x11 =288
11x7= 77 11 x8= 88
77+ 11 =17 88+11=_8
77 =7=11 88 +8=11
5x9=45 11 x11=121
Ox 5 =45 11 x11=121
45+9= 5 121 +=11=11
45 =5=9 121 +=11=11
10 x7="70 9x8="72

7 x10=170 8 x9=72
70 =7=10 72 +8=9
70 +=10=7 72+9= 8
12 x12=144 9x11=99
12x12= 144 11 x 9 =99
144 =12=12 99 +11=9
144+ 12 =12 99+ 9 =11

6 x 10 = 60
10 x6=60
60+~ 10 =6
60+6=_10_
12 x 8 =96

§x12= 96
96+8= 12
96+ 12 =8
7x7=49

7 x7=49
49+7= 7
49+ 7 =7
11x7=77

7 x11=77
77 +7=11
77+11= 7
7%9=63

9x 7 =63
63+9= 7
63 +7=9
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Inverse Relationships (H)

8 x6=48

10 x 5= 50
_ x10=50
50 + 5 =

50+-10=_

6 x 8 =48
§x =48
8+ =6

+6=8

10 x 11 =110
_ x10=110
= 11=10
110+ =11

8 x 7 =56
7% 8=
56+7=_
_ +8=7

Fill in the blanks

7 x 7 =49 12 x12 =144
TxT=_ 12x =144
49+7=_ 144 +12=_
49 = 144+~ =1
5x8=40 12x11=132
8x5=_ 11x =132
40+ =5 132+ =12
__ +5= 132+ =11
6 x6=36 7 x 8=156

6x =36 8 X =56
36~ =6 56 8=
36 -6=__ 56+ =
5x8=40 8 x5=40

_ x5=40 5x8=_
40+ = 40 =8
40+ =8 40+ =5
5x7=35 9x8="72

_ x5=35 _ x9=72
35+« =5 ~_ +8=9
35+=5=__ 72+ =8

7%7=49
Tx7=_
49+7=
49+ =
11x10=110
10x11=__
110+10=_
= 11=10
12x11=132
. x12=132
132+ =12
s 12=11
10 x 7= 70
7x10=_
70+ =10
70+ =7
5% 12 =60
12x =60
60+12=_
 +5=12
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Inverse Relationships (H) Answers

8 x 6 =48
6x8= 48
48 +6=8
48 +8=6

10 x 5= 50
5 x10=150
50+5=_10_
50+10= 5
6 x 8 =48

8 x 6 =48
48+ 8 =6
48 +6=8

10 x 11=110
11_x10=110
110 +11=10
110+ 10 =11
8 x 7=56
7x8= 56
56+7= 8
56 +8=7

Fill in the blanks

7 x 7 =49 12 x12 =144
TxT7= 49 12x 12 =144
49+7= 17 144+ 12= 12
49+ 7 =17 144+ 12 =12
5x8=40 12x11=132
8x5= 40 11x 12 =132
40+ 8 =5 132+ 11 =12
40 +=5=8 132+ 12 =11
6 x6=36 7 x 8=156

6x 6 =36 8x 7 =56
36+ 6 =6 56 8= T
36 -6=_6_ 56+ 7 =8
5x8=40 8 x5=40

8 x5=40 5x8= 40
40+ 8 =5 40+ 5 =8
40+ 5 =8 40+ 8 =5
5x7=35 9x8="72

7 x5=35 8 x9=72
35+= 7 =5 72 +8=9
35+5=_T7_ 72+ 9 =8

7 x 7 =149
7x7= 49
49+7= 7
49+ 7 =7

11x10=110

10x11=_110_
110+10=_11_
110 +11=10

12x11=132
11 x12=132
132+ 11 _=12
132 +12=11

10 x 7 =70
7x10=_70
70+ 7 =10
70+ 10 =7

5x 12 =60

12x 5 =60
60+~12= 5
60 +5=12
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Inverse Relationships (1)

11x12=132
2x11=_
132+ =11
132+11=__
7% 12 =84
12x =84
 +12=7
84 +7=
5% 10=50
_ x5=50
50+-10=_
 +5=10
10 x 9 =90
9x10=_
90+ =10
90+ =9
12x11=132
11x12=_
s 11=12
132+ =11

Fill in the blanks
6x12="72 9 x9=2g1
12x6=__ 9x9=_
__ +12=6 81+-9=_
_ +6=12 __+9=9
5x12=60 6 x5=30
12x =60 Sx =30
60~ =5 30-5=__
60+5=_ 30-6=__
11 x7=77 11 x10=110
_ x11=177 10x =110
77+7=__ ~_ =10=11
77+11=__ = 11=10
7 x7=49 12x7=284
7x =49 7x12=__
49+ = 84+ =12
= T7=T 84+ =7
7x9=063 7 x5=35
O9x =63 _ x7=35
63+9=_ 35+ =
63+7=__ =+ T7=5

7% 10=70
10 x 7 =

 +10=7
70+7=_

8 x 11 =88
11x8=
88+ =
88 +8=

9 x 6=54
6x9=_
54+ 6=
54+9=

8 x 11 =288
11x =88
88+ 11=_
88 + 8 =

5x5=25
5x =25

__+5=5
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Inverse Relationships (I) Answers

11x12=132
12x11= 132
132+ 12 =11
132+11= 12
7% 12 =84
12x 7 =84
84 < 12=7
84+7= 12
5% 10=50
10 x5=150
50+10= 5
50 +5=10
10 x 9 =90

9% 10=_90_
90+ 9 =10
90+ 10 =9
12 x11=132
11x12= 132
132 +11=12
132+ 12 =11

Fill in the blanks
6x12="72 9 x9=2g1
12x6= 72 9x9= 81
72 +12=6 81+-9= 9
72 +6=12 81 +9=9
5x12=60 6 x5=30
12x 5 =60 S5x 6 =30
60+ 12 =5 30-5= 6
60+5= 12 30-6=_5_

11 x7=77 11 x10=110
7 x11=177 10x 11 _=110
77+=7=_11_ 110 =10=11
77+=11=_T7 110 =11=10
7 x7=49 12x7=284

7x T =49 Tx12= 84
49+ 7 =17 84+ 7 =12
49 =7=17 84+ 12 =7
7x9=063 7 x5=35

9x 7 =63 5 x7=35
63+9= 7 35+ 5 =7
63+7=_9 35 +7=5

7 %10 =70
10x7=_70_
70 < 10=7
70+7=_10_
8 x 11 =88

11x8= 88
88+ 11 =8
88 +8= 11
9 x 6=>54

6x9= 54
54+6= 9
54+9= 6
8 x 11 =288

11x 8 =88
88+ 11= 8
88 +8= 11
5x5=25

5x 5 =25
25 +5=5
25 +5=5
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Inverse Relationships (J)

6% 9 =54
9x =54
_ +9=6
54+ =9
8 x 11 = 88
11x =88
88+ =
88+ =11
5% 10=50
_ x5=50
50-10=_
50~ =1
7% 11=77
11x =77
77+11=
77+ =11
12 x 10 = 120
10x =120
 +10=12
120+12=_

Fill in the blanks

8 x 6 =48 6 x6=36
_ x8=48 6x =36
__ +6=8 __ +6=6
__+8=6 36 =6
12x11=132 7 x5=35
. x12=132 X T7=35
132+11=__ 35+5=__
132+ =11 = T7=5
9x7=63 8x9=172
7 X =63 O9x =72
63+7=__ 72+ =
63+ =7 72+8=_
10 x 8 =80 11 x6=66
~ x10=280 6x11=_
80+-8=_ 66+ =11
80+~ = 66+11=__
7xX6=42 8 x9=172
6x7=___ Ox8=_
42+ =T 72+ =8
42 + =6 72 +8 =

9x8=72
§x9=_
72+ =9
72+9=_
5x9=45
9x5=_
45+ =5
6 x 10 = 60
10x =60
_ +10=6
60~ =10
5x10=>50
10x =50
_ +10=5
50+5=_
6x12=72
12x =72
72+ =6
72+ =12
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Inverse Relationships (J) Answers

6x9=>54
9x 6 =54
54 +9=6
54+ 6 =9

8 x 11 =88
11x 8 =88
88+ 11 =8
88+ 8 =11
5x10=50
10 x5=150
50+10= 5
50+ 5 =10
7x11=177
11x 7 =77
77+11= 7
77+ 7 =11
12 x 10 = 120
10x 12 =120
120 +10=12
120+-12=_10_

Fill in the blanks
8 x 6 =48 6 x6=36
6 x8=48 6x 6 =36
48 +6=38 36 +6=6
48 +=8=6 36+ 6 =6
12x11=132 7 x5=35
11 x12=132 5 x7=35
132+11=_12 35+5=_T7_
132+ 12 =11 35 =7=5
9x7=63 8x9=172
7x 9 =63 Ox 8 =72
63+7=9 72+ 9 =8
63+ 9 =7 72+-8= 9
10 x 8 =80 11 x6=66
8 x10=280 6x11= 66
80+8= 10 _ 66+ 6 =11
80+~ 10 =8 66+11= 6
7xX6=42 8 x9=172
6x7= 42 Ox8= 72
42+ 6 =T 72+ 9 =8
42+ 7 =6 72+8= 9

9x8="72
8x9= 72
72+ 8 =9
72+9= 8
5x9=45

9x5= 45

45+ 9 =5
45 +5=9
6% 10 = 60

10x 6 =60
60 +10=6
60+~ 6 =10
5x10=50

10x 5 =50
50 +10=5
50+5=_10_
6x12=72

12x 6 =72
72+ 12 =6
72+ 6 =12
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